Europe’s small airports face challenges – Written comprehension – correction 1

1. This article is about : 
d) small airports
2. Which of the following proverbs sums up the main idea of the article : 
b) United we stand, divided we fall 


3. Complete the following sentences with a figure. 
a. Small airports serve five million passengers a year or fewer. 
b. About 400 small airports account for more than 30% of the continent’s passenger traffic. 
c.  Lyon-Saint Exupéry Airport developed “Le Club Imagine” in 2008 
4. Circle the airports in red and the airlines in green :
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5. Pick out a sentence showing that small airports play a significant part in the European passenger traffic.
“Out of this vast traffic, about 400 small airports together account for more than a third of the Continent’s passenger traffic.” (l. 10-11)
6. “Yet more than half of these airports are operating at a loss” (l. 12) means that small companies make a profit : WRONG

If those airports make a profit, it is not enough to compensate for all the expenses they have to incur. If they lose too much money / if they are not financially viable, they may be forced to close down. This happened to Zweibrucken Airport, in Germany. All its air services ceased in November 2014 because of ever-growing financial difficulties and problems.
